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指数の算術(負の分数指数)
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指数の算術(負の分数指数)

(− ) − = = 8
3
1 (−2)

4
1

4
35

4
3

( ) + (− ) = = 24
5
1 (−2)

2
1

2
49

2
1

( ) − = = 1
4
3 (−1)

5
1

15
17

15
2

( ) − = = 15
4
1 (−2)

2
1

2
31

2
1

( ) + (− ) = (− )
5
2 2

6
1

150
1

(− ) + = (− ) = (−5 )
6
1 (−1)

5
3

5
27

5
2

(− ) + = 7
5
2 (−2)

4
3

( ) + = = 1
5
3 (−1)

4
1

12
23

12
11

( ) + = = 1
4
3 (−1)

5
2

15
26

15
11

( ) − (− ) =
4
1 2

2
1

16
9

( ) + =
2
1 2

5
3

20
17

(− ) + (− ) = (− )
5
3 2

2
1

50
7

( ) − (− ) = = 1
4
3 2

4
3

16
21

16
5

( ) + (− ) = = 24
5
1 (−2)

5
1

5
124

5
4

(− ) + = (− )
4
3 (−1)

2
1

6
5

( ) + =
2
1 2

6
1

12
5

(− ) + = (− ) = (−2 )
5
2 (−1)

6
1

3
7

3
1

( ) − = (− )
4
1 2

5
1

80
11

( ) − = = 6
5
2 (−2)

5
1

20
121

20
1

(− ) − = = 8
3
1 (−2)

5
2

5
43

5
3

www.snowmath.com

https://www.snowmath.com

